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Screening test for the appointment of
TGT (Contract)

Subject: Chemistry
Note: Choose the correct answer and all
questions are compulsory.

Q-1. The process of identifying the component
present in-asample is called

uantitative analysis
BJQualitative analysis
C Volumetric analysis
D. Gravimetric analysis

Q-2. Conductometry is based on

ielectric constant
Electrical conductance

Q-3. Which of the following technigue is based
on the emission of light radiation?

; A. Flame photometry
B. Atomic absorption spectrophotometry
{C ;Raman spectroscopy
. Conductometry

Q-4. Which of the foliowing method is hased on
the solubility difference between the analyte and
the unwanted components

-

fEtillation
“Complex formation
~. Electrodeposition

D Precipitation

Q-5. Which of the following technigue is based
on the rate of reaction?

@5 Isctopic dilution analysis
B. Flow injection analysis
C. Mass spectrometry
D. None

Q-6. The term accuracy refers to how near the
observed vatue s to

@ Mean value

. Significant value
C. Actual value
D. None

g TYURR- & - SHEH LoAR 2AFAR

at equivalence point will be
A. None

@equal to 7
_less than 7

D. greater than 7

Q-8. When CH3COOH is titratad against?
the pH at the end point is

A None
Brequalto 7

C.lessthan 7
D. greater than 7

Q-9. Which of the following is best indicator for
titration of NH,OH with HCI?

A. Methyl red

B. Methyl orange
{C; Phenolphthaleine

3. None

Q-10. Soap is a salt of compound known as

e

-

A, Excessive growth of
Q,’B;Aigae
C. Grass
0. Other poltution

Q-12. Cement s a mixture of
A. Ctay and clinker

A. Acetic acid

B. Formic acid
,@;Fatty acid

D. Amino acid

@ Clay, limestone and gypsum

" Limestone and gypsum
D. Limestone and ciay

Q-13. The percentage of nitrogen in urea is




Q-15. Copper occur in nature as
A Native

{B) Combined ‘
-C. Both
D. None

Q-16. The formula of Crysiite IS

AN
e

A. NaAlF, P R
_B. NasAlF, —
{C./NaAlFy

Y

O
D.None «®

Q-17. Celis with nuclear envelop-telongs to

A. Prokaryotes \’
@*\ Eukaryotes

C. Both

D. None

Q-18. The diameter of a typical plant or animal
cell is

A 1to5um
B.5to10um
fC10t0 50 um

.51t0 100 pm

Q-19. Acids are substances whose aqueous
solutions turned blue litmus red and tasted sour
stated by

A. Davy
(g;j Liebig
C. Boyle
D Rouelie

Q-20. Which of the following statement is not
true regarding buffers? T

A. They are made up of weak acid ard its salts
~B. They are made up of wgak base and its salts
C. they tend to resist a cha in pH value
T} they are made up of strong acid and weak
ase

Q-21. Relative order of acidity of HE, HCI, HBr

and Hl acids is
A. HCI>HBr>HI>HF
B. HF>HCI>HBr>H]|
(C>HI>HBr>HCI>HF
. HF>HI>HCI>HBr

Q-22. The pH of 0.1 M HC! solution is
A001 B.O01 C02 (D1

Q-23. Which of the following amino acid have
two carboxylic groups? P

@Aspasﬁc acid
" B Histidine
C. Gluatmine
D. none

Q-24. How many isomeric aldoses are possible
for the molecular formuia CgH1,Os
A2

B4
C.6
D. 16

Q-25. Epimers are compounds that differ in__.-

A functional group

L
_{Bconfiguration at alpha carbon

C. configuration at any carbon
D. none

Q-26. Select a basic amino acid

A. Glycine
B. Cystine

,,© Alanine

D. Lysine
Q-27. Apoenzyme is

A. Hydrolytic enzyme
B. Oxidative enzyme
C. Coenzyme
@j Protein part of enzyme after removai of
coenzyme

Q-28. A sugar present in DNA i

A, D-ribose
B. D-glucose

@ 2-Deoxy-D-Ribose

D. None

Q-29. Which vitW{é for vision?
Q:\: Retinol  \ .

B.vVitD
C. Tocopherols
D. Vit K

Q-30. Which of the following is periodic propery?
A. Atomic volume _-B. Metallic character

C. lonizatiocy/w @)A”



.

i

Q-31. Which of the following has largest size - Q-46. Cetane js /
A. Na* égcr C.F D. Fe* ><\ A n-hexane B. n-pentadecane

C. n-octane @, n-hexadecane

Q-32. Which group contains elements that exist - ‘

as monoatomic molecules? \ Q-47. Which among the following is not .

A1 B.2 C14  (By1s nucleophile 7 -
A. CH3NH3 B. CHoCHz | e

Q-33. Which of the following element is more - @}CH3+ D. OH

Mmetallic? - "

AP B As C.5b @rBi L Q-48. Which of the following is strong acig? i
A. Benzoic acig B, m-nitrobenzoi cid

Q-34. Which of the fo!!ow%ng factor effect C. O-nitrobenzoic acid @ p-nitrobgnzeis acid

ionization ener ? :

A. Atomic radiys B. Nuclear chaE}e//// Q-49. Which of the following orpitay does ng

C. Shiedding effect BAI make sense?

’ A. 6f B. 4f C7s  (Disg

Q-35. Which of the following element s

metalloig? _ / Q-50. The maxium valye of order of reaction

A Pb B. carbon @As D. Mg L. may be? o~ "
) A1 B.2 (63 D.4

Q-36. Which of the following compound does not :

following octet rule? 4 .

ACS:  BPB, c g s,

Q-37. Which of the following halides have the

lowest melting point? .
ANaCl "B NaF ¢ nagy (D) Na \,‘/

Q-38. Which of the following haiides has zerg
dipole momen;?
ANHs  Bio, ¢ NFs D cHcl,

**'k****‘k******************************************

Q-39. The state of hybridization of carbon in
Q\02 is?
@\ sp B. sp2 C.sp3 D dsp2 !

Q-40. Which one of the following is non-polar?
A.-CHCI (Bcel, ¢ CHCL: . cHey,

Q-41, Silvit= is an ore of.? i~
A Ca B Mg ¢ Ba (LDK

Q-42. Which elements are non metals? ;
ANEP BAs&sph Sb&Bi D Ba & Bi >£\
Q-43, Among oxides of nitrogen aif are gases
gexcept
{AIN205 B N20 ¢ no D. N203 71\
Q-44. Al halogens form oxyacide except -
A.Flourine B Chiorine ¢ Bromine (B lodine )(\

Q-45. Compunds HCN and HNC are
A Tautomers @Metamers
C functionaj isomers D. Conformers

3|Page



Name
£ - Noawme

-

TGT {Contract)

Subject: Chemistry

Note: Choose the correct answer and all
guestions are compuisory.

Q-1. The process of identifying the component
present in a sample is called

\/A./Quantitatéve analysis

B. Qualtative analysis
C. Volumetric analysis
D. Gravimetric analysis

i

Q-2. Conductometry is based on

\,ﬁél'ectric current

B. Electrical potential
C. Dielectric constant
D. Etectrical conductance

Q-3. Which of the following technigue is based
on the emission of light radiation?

A. Flame photometry

- Atomic absorpticn spectrophotometry
C. Raman spectroscopy
D. Condug,temetry

Q-4 Which of the following method is based on
the solubility difference between the analyte and
L ne unwanted componenis

A. Distillation
B. Complex formation
C. Electrodeposition

B Precipitation

Q-5. Which of the following technique is based
on th; rate of reaction?

\/Aﬁsotopzc dilution analysis
B Flow injection analysis

C. Mass spectrometry
D. None

Q-6. The term accuracy refers to how near the
obsen//ed value is tc

e

“Mean value

B. Significant value

€ Actual value

D. None

> Zalla éwé’,@mo
Gotfa

Screening test for the appointment of

: Bj egualto 7
C.lessthan 7
\ B greater than 7

i Q-8. When CH3COOH is titrated against NaOH
7Qche pH at the end point is

A. Nene
B.equalto 7

v Tess than 7
D. greater than 7

Q-9. Which of the following is best indicator for
titration of NH,OH with HCI?

A. Methyl red

B Methyl orange
C. Phenolphthaleine
D. None -

o
o

L/Q/ﬂ]. Soap is a salt of compound known as

A. Acetic acid

B. Formic acid
atty acid

D. Amino acid

Q- 1;1 The colour of water in a take is due to

\/\'}B}xoesswe growth of sea weeds
Algae

C. Grass

D. Other politition

Q-12. Cement s a mixture of

A. Clay and clinker

“Clay, limestone and gypsum
C. Limestone and gypsum
D. Limestone and clay

Q13.T ”‘r;ercentage of nitrogen in urea is
. 36%

VB 46%
C. 56%
D. 66%

Q-14. The percentage of nitrogen in ammonia is
A 32%
B. 42%
VETT2%
D. 82%

1|Page



Q-15. Copper occur in nature as Q-23. Which of the foliowing amino acid have

Vg)atéve two carboxylic groups?
. Combined
C. Both Aspartic acid
D. None ?&B/Fﬂstsdme
C. Gluatmine
Q-16. The formula of Cryolite is D. none
A NaszAlF; Q-24. How many isomeric aldoses are possible

TNasAlF, for the molecular formula CgH4204

%.’i

B.

C.
Q-17. Cells with nuclear envelop belongs to D 16
A. Prokaryotes Q-
VB Eukaryotes

C. Both A. functional group

25. Epimers are compounds that differ in
D. None B. configuration at alpha carbon
Coc onfguratlon at any carbon
Q-18. The diameter of a typical plant or animal none

celiis
MQ 5um e
B. 510 10 ym /vg//‘%cine
C.10to 50 um 1 . Cystine

Q-26. Select” a basrc amino acid

D. 5t0 100 um C. Alanine
D. Lysine

Q-19. Acids are substances whose aqueous
solutions turned biue litmus red and tasted sour Q-27. Apoenzyme ]
stated by

_ A T—Iydrolytec enzyme

\/Aﬁvy v “B. Oxidative enzyme

B. Liebig C. Coenzyme
C. Boyle \E Protein part of enzyme after removal of
D. Rouelle coenzyme

Q-20. Which of the following statement is not
true regarding buffers?

" Q-28. A sugar present in DNA is

. D-ribose
B. D-glucose
C. 2-Deoxy-D-Ribose

A.They are made up of weak acid and ifs salts
B. They are made up of weak base and its salts

- they tend to resist a change in pH value D. None
D. they are made up of strong acid and weak
base Q-Z/Q:’Which vitamin is responsible for vision?
Q-21. Relative crder of acidity of HF, HCI, HBr \/{Retinol
and HI acids is B . vitD
A HCI>HBr>HI>HF C. Tocopherols
M HF>HCI>HBr>HlI D.Vit. K
C. HI>HBr>HCI>HF g
D. HF>HI=HCI>HBr L‘/C.“?{\;'Vhich of the following is periodic propery?
A. Atomic volume B. Metallic character
Q- 22 he pH of 0.1 M HCI solution is C. lonization energy “All

B.ot C. 02 D1

2iPage



Q-31. W;E?éof the following has largest S|ze 7
A Na* B.CI D. Fe®

as monoatomic molecules?

B.2 C. 4

| Q-32. Which group contains elements that exist
1 b. 18

metallic?ﬁ_, :
AP 7 B. As CSb D. B

\/@1 Which of the following factor effect
ionization energy?

A, Atomic radius B. Nuclear charge
C. Shiedding effect D<Al

\/Q{?:/S. Which of the following element is
metalloid?

A Pb B.carbon C.As D. Mg

\7!\\ Q-33. Which of the following element is more

Q-36. Which of the following compound does not

following octet rule?

ACS,  B.PBr, Y iBr
\/arf? Which of the following halides have the

lowest melting point?

A. NaCl B.NaF C NaBr O Nal

Q-38. Which of the following halides has zero
dipole moment?

D. BrFs

3

A NH; B. Ci; C. NF; D. CHCI;,
Q-39. The state of hybridization of carbon in
CO2is?

A sp B:isp2 C.sp3 D. dsp2

e

L
Q-48-Which one of the following is non-polar?
“CH,Cl BYCCl, C.CHCl,  D.CHCI,
Q-4'E Silvite is an ore of..? T/
K

A Ca B.Mg C.Ba

Q-42. Which elements are non metals?
"N&P B As&Sbhb C.Sb&Bi

?4 Q-43. Among oxides of nitrogen all are gases
except
A N205 B.N20 C.NO . N203
Q-44. All halogens form oxyacide exceg/‘
)( A. Flourine B. Chlorine C. Bromine B lodine
/( Q-45. Compunds HCN and HNC are

B. Metamers
D. Conformers

A, Tautomers
\C-functional isomers

D Bz & Bi

Q-46. Cetane is
A n-hexane
C. n-occtane

VBﬁpentadecane

D. n-hexadecane

Q-47. Which among the following is not
nucleophile ?

A CH3NH3 ¥ CHaCH?
C. CH3+ D. CH

Q-48. Which of the following is strong acid?
A Benzotc acid B. m-nitrobenzoic acid
70- mtrob;eﬂch acid D. p-nitrobenzoic acid
. Which of the following orbital does not
make sense? K
99

A. 6f B. 4f
Q-50. The maxium value of order of reaction

may be? 8/
.3 D 4

A

C7s

B.2

**************************************************
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Screening test for the appointment of

TGT (Contract)
Subject: Chemistry

Q-1"The process of identifying the component
resent in a sample is called

A Cuantitative analysis
B Qualiitative analysis

C. Volumetric analysis

D. Gravimetric analysis

=2. Conductometry is based on

A. Electric current
B. Electrical potential
C. Dielectric canstant
\ A& Electrical conductance

Q;Wch of the following technigue is based
perthe emissicn of light rariation?

vf(l'—'lame photometry
B Alomic absorption spectroshotometry
C. Raman spectrescopy
D. Condugtetnetry

. Which of the fcllowing methed is based on
he solubility difference between the analyte and
the unwanted components

A. Distillation _
B. Complex formation
C. Electrodeposition

A7 Precipitation

Q-5. Whichof the following techniqus is based

- Isctopic diluticn analysis
& Fiow iniectior analysis
C. Mass spactromelry
D. Nons

Q-6. The tarm accuracy rafers to how near the
observed valus s to

P .
A, Mean value

B. Significant vaiue
C. Actual value

D. None

Nwham mad Nads |
RS f‘/ P

! : L
i’ \.\ % //
Q:7-When HC! is titrated-against NGOH the pH
\_ 4t equivalence point will be
A. None
B equalto 7
C.lessthan 7
D. greatert

“When CH3COOH is titrated against NaOH
e pH at the end point is

A. None

B.equalto 7

C. lessthan 7
7 greater than 7

Q-9. Which of the following is best indicator for
titration of NH,OH with HCI?

A. Methyl red
B. Methyl orange

. Phenalohthalzine
D. None

T Soap is a salt of coempound kroown a2s

A. Acetic acid
B Formic sod
e Fatty acid

C. Aming acid

e coiour of wator in g iake 1z due to

. Excessive growth of sea weads
B Algae

C. Grass | .

[, Other pollution

Q-12. Cement s a mixture of oo

. M’—(Clay and clinker

B Clay, limestone and gypsum
- Limasions and gynsum
D Limeastene and clay

G-13. The percentag: &f nitrogsn in Uran i3

A. 36%
B. 46% e
/

C. 56%
\ET 66%

¥4. The percentage ofniiregen in amimnniz i3
A 32%
B.42%

C_72%
Y. 82%

{4



Q-15. Copper occur m nature as

. Native
B. Combined
C. Both

D. None

Q-16. The forWs
VA NaAIF;

B. NazAlF,
C. N83A|F5
D. None

Q-17. Cells with nuclear e opwbeiongs to
A Prokaryctes

. Eukaryotes
C. Both
D. None

Q-18. The diameter of a typical plant or animal
cell is

A 1to5pum
\B/Sto‘IOpm
C.10to 580 um
D 5t0 100 um 7/

@-19. Acids are substances whose agueous
solutions turned blue litmus red and tasted sour
stated by

\{Davy

B. Liebig
C. Boyie
D. Rouelle

Q-20. Which of the following statement is not
true regarding buffers? ,

A. They are made up of é@ acid and its saits

B. They are made up weak base and its salts

C. they tend to resiet a change in pH value

%t‘ﬁey are made up of strong acid and weak
ase

Q-21. Relative order of acsdlty of HF, HCI, HBr
and HI acids is

A. HCI>HBr>Hl=HF

B. HF>HCI>HBr>HI,
& HI>HBr>HCI>
D. HF>Hi>H

Q-22-The pH of 0.1 M HCI solytion is
A 001 B.O1 C.02 A

Q-23. Which of the following amino acid have
two carboxylic groups? e

\Aspar‘{ic acid

B. Histidine
C. Gluatmine
D. none

Q-24. How many isomeric aldoses are possible
for the molecular formula Cgh,04
A2 »

B. 4
C.8

16

Q-25. Epimers are compounds that differ in
A. functional group

& configuration at alpha carbon

C. configuration at any carbon
D. none

Q-26. Select a basic aming acid

A. Glycine
B. Cystine

\Z/Alan mne

D. Lysine
Q-27. Apcenzyme is

A. Hydrolytic enzyme
B. Oxidative enzyme
& Coenzyme
D. Protein part of enzyme after removal of
coenzyme

Q-28. A sugar present in DNA js-

A. D-ribose \/
B. D-glucose

Vel 2-Deoxy-D-Ribose
D. Ncne

Q-29. Which vitamin is responsible for vision?

\#(/E{etino! /
B.VitD

C. Tocopherols
DoVit K

Q-30. Which of the-fSllowing is periodic propery?
A. Atomic volume B. Metallic character
C. lonization energy &I All

2|Page
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Q-31. Whlch of the fo vc/ng has largest size ? \/Qés. Cetane is
A.Na" " B.CI F D. Fe** A. n-hexane B. n-pentadecane

: C. n-octane”™ \/M-hexadecane

-32. Which group contains elements that exist

as monoatomic molecules? Q-47. Which among the following is not
A1 . B.2 C. 14 \{18 ucleophile ?

- A. CH3NH3 B. CH2CH2

3. Which of the following element is more 2 CH3+ D. OH
metallic?
AP 7 BAs CSb \i{ Bi 1 Q-48. Which of the following is strong acid?
A. Benzoic acid ’\B/gm nitrobenzoic acid
~34. Which of the following factor effect C. o-nitgmanzoic acid D. p-nitroebenzoic acid
| fonization energy? ; o
A. Atomic radius B. Nuclear charge 8. Which of the following orbital does not
C. Shiedding effect BT Al {/}r%:}:e sense?
A. 6f B. 4f C.7s ’\é)g
Mhéch of the following element is

metalloid? ‘C/ \ Q-50. The maxium value of order of reaction
A-Pb B cabon € As D Mg may be?

7 1 B.2 \C/ 3 D. 4

. Which of the fellowing compound does not
ollowing octet rule?
ACS;  BPBr, CIBr O BIF

o *****"k**************i****************f*******‘k*‘k**

k/{g/}/fWhich of the following halides have the
west melting point?
A. NaCl B.NaF C.NaBr ‘& Nal

t
4
/(

+ Q-38. Which of the following halides has zero

dipcle moment?
NH, /,,,\-,8_4:12 C.NF; D. CHCl

'sp2  C.sp3 D.dsp2

0. Which one of the following is non-polar?
A. CH,CL- \B/CCL; C. CHCly D. CHCl,

“41. Silvite is an ore of .7
A Ca Mg C.Ba DK

Q-42. Which elements are non metals?
N&P B As&Sb C. Sb&Bi D BakBi

Q-43. Among oxides of nitrcgen all are gases
exgept
"N205 B.N20 C.NO D.N203

Q-44. All halogens form oxyacide except
A_Flourine B. Chlorine C. Bromine \¥. todine

Q-45. Compunds HCN and HNC are
A. Tautomers B. Metamers
C.Aunctional isomers D. Conformers
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Screening test for the appointment of
TGT (Contract)
Subject: Chemistry

Note: Choose the correct answer and all
questions are compulsory.

A. Quantitative analysis
@Qualitative analysis
C. Volumetric analysis
D. Gravimetric analysis

Q-2. Conductometry is based on

A. Electsi¢ current

B. Electrical potential
/Q%i(dectric constant
(D) Electrical conductance

Q-3. Which of the following technigue is based
on the emission of light radiation?

| A. Flame photometry
B) Atomic absorption spectrophotorietry
C. Raman spectroscopy
D. Conductometry

Q-4. Which of the following method is based on
the sclubility difference between the analyte and
the unwanted components

A. Disfillation
~Complex formation
" C. Electrodeposition
{D) Precipitation

@Q-5. Which of the following technique is based
on the rate of reaction?

A. Isotopic dilution analysis

B. Flow injection analysis
. Mass spectrometry
@ Nore

Q-6. The term accuracy refers to how near the
observed.value is to

7 Significant vaiue
Actual value

D fo Prdded Sabeor KL omn

at equivalence pof
A. None
.equalto 7
{C)less than 7
D. greaterthan 7

o

the pH at the end point is

A. None 7
B.equalto 7
C. less than 7

{D) greater than 7

Q-9. Which of the foliowing is best indicator for
titration of NH,OH with HCI?

A. Methyl red |

B. Methyl orange %
¢C) Phenolphthaleine

D. None

Q-10. Soap is a salt of compound known as

P

Q-11. The colour of water in a lake is due to

A. Acetic acid
B. Formic acid
Fatty acid
D. Amino acid

o
A. Excessive growth of weeds
B) Algae
C. Grass

D. Other poliution

Q-12. Cement s a mixture of

A. Clay and clinker ,\/
B Clay, limestone and gypsum

C. Limestone and gypsum

D. Limestone and clay

Q-13. The percentage of nitrogen in urea is

A. 36%
B. 46%
C. 56%

(D) 66%

Q-14. The percentage of nitrogen in ammonia is
A 32%
B 42%
C. 72%
D. 82%

l|FPage



Q-15. Copper oceur in nature as
A. Native

@ Combined
C. Both
D. None .

Q-16. The formula of Cryolite is.—
e

"AYNasAlF, \/

B NasAlF,

C. NaaAEFS

D. None

Q-17. Celis with nuclear envelop belongs to

@ Prokaryotes
B. Eukaryotes
C. Both
D. None

Q-18. The diameter of a typical plant or animal
cell is

1 to 5 um
B 5to10um
C. 10 to 50 um
D. 510 100 ym

Q-18. Acids are substances whose aqueous
solutions turned blue fitmus red and tasted sour
stated by

fA. Davy >L
{B) Liebig

C. Boyle

D. Rouelle

Q-20. Which of the following statement is not
true regarding buffers?

its salts
and its salts
in pH value

ng acid and weak

A. They are made up of weak acid
B. They are made up of weak b
C. they tend to resist a chan
{D)they are made up o
base

Q-21. Relative order of acidity of HF, HEI, HBr
and Hl acids is

A. HCI=HBr>HI>HF

B. HF>HCi>HBr>H!

€) HI>HBr>HCi>HF

D. HF>HI>HCI>HBr

Q-22. The pH of 6.1 M HCI solution is
A 001 fBIOA C.02 D1

Q-23. Which of the following amino acid have
two carboxylic groups?

A. Aspartic acid
{B)Histidine

C. Gluatmine .
D. none

Q-24. How many isomeric aldoses are possible
gg the molecular formula CgHq2Cs
AY2

B. 4 j
C.8
D. 16

Q-25. Epimers are compounds that differ in

{A. functional group

. configuration at alph# carbon
C. configuration at any/carbon
D. none

Q-26. Select a basic amine acid

A. Glycine

B. Cystine j
@Alanine
D. Lysine

Q-27. Apoenzyme is
A. Hydrolytic enzyme -
B. Oxidative enzyme

. Coenzyme

LD/Protein part of enzyme after removal of

coenzyme

Q-28. A sugar present in DNA is
A D-ribose

B. D-glucose
€)2-Deoxy-D-Ribose

D. Nene
Q-29. Which vitamin is respgnsible-for vision?

B.VvitD
C. Tocopherols
D. Vit K

Q-30. Which of the following is periodic propery?
A. Atomic volume B. Metallic character

{C)lonization energy ~ D. All
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Q-31. Which of the following has largest size ? Q-46. Cetane is
A Na* B)Cr C.F D. Fe®" ¢A n-hexane B. n-pentadecane
C. n-octane D. n-hexadecane

Q-32. Which group contains elements that exist

as monocatomic molecules? " Q-47. Which among the following is not
A B.2 C. 14 @18 \/ nucleophile ? Sk

A. CH3NH3 B. CH2CH2 v ,
Q-33. Which of the following element is more C. CH3+ DWy’f 7
metallic? 7& = A
A P M)As  C.sb D. Bi Q-48. Which of the following is strong acid? ‘

Benzoic acid B. m-nitrobenzoic acid

Q-34. Which of the following factor effect C. o-nitrobenzoic acid  D. p-nitrobenzoic acid ><
ionization energy?
A. Atomic radius B. Nuclear charge Q-49. Which of the following orbital does not e

o

C. Shiedding effect @ All make sense? L//
A. 6f B. 4f C7s Mg |
Q-35. Which of the following element is

metalloid? Q-50. The maxium value of order of reaction —
@Pb B.carbon C.As D. Mg may be? ‘w
A1 B.2 c.3 (D)4 /

Q-36. Which of the following compound does not
following octet rule? /
A. CS; B.PBr; C.IBr iD)Brfs U

nnnnnnnnnnnnnnnnnnnn

Q-37. Which of the following halides have the

iowest melting point? )

A NaCl B.NaF C.NaBr Naf /
Q-38. Which of the following halides has zero

dipole moment? ;
ANH;  (B)Cl, C.NF, D‘CHCIS*

Q-39. The state of hybridization of carbon in

COZ is? /
Asp  (B)sp2  C.sp3 D dsp2

Q-40. Which one of the following is non-polar?
[A)CH,Cl B.CCly C.CHCl,  D.CHCl

Q-41. Silvite is an ore of..? %
A Ca (Mg C.Ba DK

Q-42. Which elements are non metals?
(ADN&P B As&Sb C.Sb&Bi D.Ba & Bi

Q-43. Among oxides of nitrogen all are gases
except
YAIN205 B.N20 C.NO D.N203

Q-44. Al halogens form oxyacide except
A. Flourine B. Chlorine @Bromine D. lodine

Q-45. Compunds HCN and HNC are
A Tautomers @ Metamers
C. functional isomers  D. Conformers



hoo

‘shammodd

Homa [

Die

Screening test for the appointment of
TGT (Contract)

Subject: Chemistry

Note: Choose the correct answer and all
questions are compulsory.

Q-1. The process of identifying the component
present in a sample is called

A. Quantitative analysis

B. Qualitative analysis
ve " Volumetric analysis

D. Gravimetric analysis

Q-2. Conductometry is based on

e

A, ciric current
. Electrical potential
L C. Dielectric constant
LB Electrical conductance

Q-3. Which of the following techrigue is based
on the emissicon of light radiation?

A Flame phatometry
y B-AKtomic absorption spectrophotometry
C Raman spectroscopy

D. Conductometry

Q-4. Which of the following method is based on
the sclubility difference between the analyte and
the unwanted components

A. Distillation
B. Complex formation
&~ Electrodeposition

D. Precipitation

Q-5. Which of the following technique is based
on the rate of reaction?

A Isctopic dilution analysis
B. Flow injection analysis
€7 Mass spectrometry

D. None

A. Mean value

B. Significant value
€ Actual value

D. Nene

cpb@j

Q-7. When HCl is titratéd a
at equivalence point will be

A. None
B. equalto 7
L less than 7

D. greaterthan 7

inst NaO

the pH at the end point is
A. None
B.equaito 7
C.lessthan7
LB greater than 7

Q-9. Which of the following is best indicator for
titration of NH,OH with HCI?

A Methyl red ’
B. Methyl crange
€7 Phenolphthaleine
D. None
Q-10. Soap is a salt of compound known as
A. Acetic acid

LB Formic acid ,
C. Fatty acid
D. Amino acid

Q-11. The colour of water in a lake is due to

A. Excessive growth of sea w ds
L-B7Algae /e
C. Grass

D. Other pollution
Q-12. Cement s a mixture of

A. Clay and clinker
lay, limestone and gypsum
. Limestone and gypsum
D. Limestone and clay

Q-13. The percentage of nitrogen in urea is
e

A. 36%

B 46% ;
C. 56%
D. 66%

Q-14. The percentage of nitrogen in ammonia is
A 32%
B 42%
T 72%
D. 82%

ll?age




Q-15. Copper accur in nature as
A. Native
1.B-Combined ‘74
C. Both
D. None

Q-16. The formula of Cryolite-7s

LA NaAlR,
B. NasAlF,
C. NasAlFs
D None

Q-17. Cells with nuclear envelop belongs to

o

e
A. Prokaryotes \//
;‘/B/ Eukaryotes
C. Both
D. None

Q-18. The diameter of a typical plant or animal
cell is

VA 1105 KM
B.5to 10 um
C. 10 to 50 um
D.5to100 um

Q-19. Acids are substances whose agueous
solutions turned blue litmus red.and tasted sour
stated by

A. Davy
B. Liebig
.~C. Boyle

D. Rouelle

Q-20. Which e foliowing statement is not

ding buffers? :
!
. They are made up of weak acéﬁ\iis salts

B. They are made up of weak base and iis salts
-EC-they tend to resist a change in pH vaiue

D. they are made up of strong acid and weak
base

Q-21. Relative order of acidity of HF, HCI, HBr
and Hl acids is

A, HCI>HBr>HI>HF 4
B, HF>HCI>HBr>Hl

C. HI=HBr=HCi>HF
D. HF>HI>HCi>HBr

Q-22. The pH of 0.1 M HCI solution is
A001 BO01 CO02 &1

Q-23. Which of the following amino acid have
two carboxylic groups?

\/Kf&s;}ar{ic acid /
B. Histidine ~

C. Gluatmine
D. none

Q-24. How many isomeric aldoses are possible
for the molecular formula CGH1206
A2

B4
C.6
D. 16

Q-25. Epimers are compounds that differ in

LA functional group

B. configuration at alpha carbon
C. configuration at any carbon
D. none ’

Q-26. Select a basic amino acid

A. Glycine
.8 Cystine ‘
C. Alanine

D. Lysine
Q-27. Apoenzyme is
A. Hydrolytic enzyme
B. Oxidative enzyme
oenzyme
B. Protein part of enzyme after removal of

coenzyme

Q-28. A sugar present in DNA is

A D-rihose
. B-Fglucose
C. 2-Deoxy-D-Ribose

. Ncne

Q-29. Which vitamin is responsible for vision?

< A Retinol :
B. VitD
. Tocopherols

» DUVIE K

t
Q-30. Which of the following is periodic propery?
A. Atomic volume B. Metallic character
- lonization energy D. All

2| Page



Q-31. Which of the following has largest size ?
A. Na* B'CI C.F D. Fe*
Q2-32. Which group contains elements that exist

as monoatomic molecules?
D. 18 ><

\/ﬁ" 1 B .2 C. 14

Q-33. Which of the following element is more

metalic?

A P _BAs ><

Q-34. Which of the following factor effect

ionization energy?

A Atomic radius B. Nuclear charge

C. Shiedding effect  -BAll
Q-35. Which of the following element is _
metalloid? \/></
Q-36. Which of the following compound dces not

~Pb
following octet rule?
. BrFs >K

C.Sb

B.carbon C.As D. Mg

A.CS; B. PBry & TBr
Q-37. Which of the following halides have the

lowest melting point?

A NaCl B.NaF \& NaBr D. Nal

Q-38. Which of the following halides has zero
dinole moment? _
A NH;y ~WB'Cl, C. NF; D. CHCl3 ><
(1-39. The state of hybridization of carbon in
COzis? ‘C/ "

B. sp2 .sp3 D. dsp2 %

A. sp

Q-40. Which one of the following is non-polar?
A CH,C! {B.€Tl,  C.CHCL D. CHCY

Q-41. Silvite is an ore of .7

A. Ca B-Mg \G-Ba D.K >\
Q-42. Which elements are nop metals?
ANEP B As&Sh “Sb & Bi . Ba & Bi

*

Q-46. Cetane is
A. n-hexane
C. n-octane

L»’B/.,;}—/pentadecane

D. n-hexadecane

K
e

Q-48. Which of the following is strong acid?

A. Benzoic acid ~m-nitrobenzoic acid
C. o-nitrobenzoic acid  D. p-nitrobenzoic acid

Q-47. Which among the following is not
nucieophile ?
A CH3NH3
C. CH3+

B. CH2CH2
. OH

Q-49. Which of the following orbita! does not
make sense?

A. Bf B. 4f C7s Wig
Fall
Q-50. The maxium value of order of reaction
may be?
A B2 C3 D4

/

Q-43. Among oxides of nitrcgen all are gases
except /
A.N205 B.N20 ~NO  D.N203

Q-44. All halog
A. Flourine

s form oxyacide except
Chlorine C. Bromine D. lodine

g
Q-45. Compunds HCN and HNC are
A Tautomers B Metamers
\yﬁmctional isomers  D. Conformers

S

/
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Screening test for the appointment of

TGT {Contract)

Subject: Chemistry
Note: Choose the correct answer and all
guestions are compulsory.

Q-1. The process of identifying the component
prasent in a sample is called

¢ ‘AsQuantitative analy5|s
I "B Qualitative analysis
C Volumelric analysis
D Gravimetric analysis

(-2. Conductometry is based on

A Electric current
B Eiectrical potential
" Dielectric constant
AV D

lectrical conductance
Q-3. Which of the following technique is based
on the emission of tight radiation?

A Flame photometry
E_Atomic absorption spectrophotometry
;_C YRaman spectroscopy
U Conductometry

Q-4. Which ¢f the foliowing method is based on
the solubiiity difference between the analyte and
the unwanted components

A Digtitlation
“Complex formation
C E iectrodeposmon
‘Precipitation

G-5. Which of the following technique is based
on the rate of reaction?

A 1sotopic ditution analysis
. Flow injection analysis
C Mass spectrometry

D None

Q-G. The term accuracy refers to how near the
cbserved value is to

///

2an value

. Significant value

Cracival value

D Ncne

at equivalence point wi
A-None
‘Brequalto 7
C.lessthan7

D. greater than 7

Q-8. When CH3COOH is ftrated against NaOH
the pH at the end point is

A None

}i equal to 7
(Ciilessthan 7
D. greater than 7

Q-8. Which of the following is best indicator for
titration of NH,OH with HCI?

A Methyl red

.;B Methy! orange
‘C. Phenolphthaleine
D. None

Q-10. Soap is a salt of compound known as

-

L/g,ﬁéetic acid

. Formic acid
{C) Fatty acid
D. Amino acid

Q-11. The colour of water in a lake is due to

A. Excessive growth of sea weeds
B. Algae

C. Grass

(D, Other poilution

Q-12. Cement s a mixture of

A. Clay and clinker

B. Clay, limestone and gypsum
. Limestone and gypsum

D Limestone and c!ay

ercentage of nitrogen in urea is

w'/.’
o

o

&/9% The percentage of nitrogen in ammonia is
A 32%

B. 42%
GC.72%

D 82%

I|Page




Q-15. Copper occur in nature as

A Native
QB\‘ Combined
L Both

D None

Q-16. The formula of Cryolite is

A NaAlF,
B. NaAlF,
C. Na;AlF;
Dnone

Q-17. Celis with nuclear envelop belongs to

A(, Frokaryctes /
B Eukaryotes >L
C. Both
D None

Q-18. The diameter of a typical plant or animal
Celiig

A ttoSum
B. 510 10 um
i_‘C‘ 10 to B0 um
D 510100 pm

Q-14. Acids are suhstances whose aqueous
solutions turned blue itmus red and tasted sour
stated by

A Davy
B Lizbig
C Baoyle
L Rouelle !

Q-20. Which of the following statement is not
true regarding buffers?

A Thay are made up of weak acid and itg" salis
8 They are made up of weak basﬁan/ its salts

G they tend to resist a change ip"pH value
D”hey are made up of é\)g’a);/{f and weak

dbb

G-21. Relative order of acidity of HF, HCI, HBr
and Hl acids is

A HCI> HBr> HI>HE
B HF=HCEHBeH \/
4= HBr>HCI>HF
D HF >HI>HCI=HBr \mo//
Q-22. The pH of 0.1 M HCI solutidnh is

A 001 801 €02 {D)

o
e

Q-23. Which of the-following amino acid have

two cwzgfo/ups?

A} Aspartic acid
B. Histidine
C. Gluatmine
D. none

Q-24. How many isomeric aldoses are possible
for the molecular formula CgH,,06

A2 ;

B 4

Cc.8

D. 16

Q-25. Epimers are compounds that differ in

A, functional group

B configuration at alpha carbon
C Jconfiguration at any carbon
. none

Q-26. Select a basic amino acid

A Glycine
B Cyst ne

D Lysme

Q-27. Apoenzyme is

A. Hydrolytic enzym
B. Oxidative enzymi//
5. Coenzyme

{ D,z Protein part of enzyme after removal of
coenzyme

Q-28. A sugar presentin D
A. D-ribose /

B. D-glucose
Q 2-Deoxy-D-Ribose
D. None

Q-29. Which vitamin is responsible for vision?
(A Retino! /

B.VitD
C. Tocopherols

D Vit M
Q-30. Whic e following is pericdic propery?

A. Atomic volume B. Metallic character
C. lonization energy z\D All

2| Page




\\}\\J’\ s
h of the foll has largest -~ ‘Q-46 Cet -

G-31. Which of the following has largest size ? etane is -
A Na' B.Cr C.F %\Fe T A. n-hexane %—pentadecane

C. n-octane D, n-hexadecane
Q-32. Which group contains elements that exist h
as monoatomic molecules? e / Q-47. Which among the foﬁowmg is not
A B 2 C. 14 ‘Ds18 nucleophile ?

A CH3NH3 / B. CH2CH2
Q-33. Which of the following element is more sI'KC;}CH3+ . D. OH
metallic? . P
AP B.As CSb X0)- AN Q-48. Which of the following is strong acid?

A. Benzoic acid B@k m-nitrobenzoic acid
Q-34. YWhich of the following factor effect C. o-nitrobenzoic acid  D. p-nitrobenzoic acid
ionization energy? T
A, Aomic radius B Nuclear chaV Q-49. Which of the following orbital does not ——
C Shiedding effect ¥ make sense?

A. 6f B. 4f C7s (D5g
Q-35. Which of the following element is
mietaiod? ) / Q-50. The maxium value of order of reaction
A Pp B.carbon C1As  D. Mg may be? n

B.2 C.,3 D.4

Q-36. Which of the following compound do

. p es not
fuliowing octet rule? . /
ACS, B.PBr; C.I1Br {DJBrFs

********‘k*******************'ki{********************

Q-37. Which of the following halides have the
tlowest melting point? e, /
A NaCl B.NaF C. NaBr { D/Nal

Q-38. Which of the following halides has zero
dipois moment?
A NH; BiCl, C.NF; D.CHCl \?<

Q-3%. The state of hybridization of carbon in
4.(#\/,: 157 \/
FAsp B.sp2 C.sp3. D.dsp?

(} 4u v’\/hzcg one of the following is non-polar? " L
CH.Cl (B} CCly C. CHCIs D. CHCY .

C! 41. Sivite,is an ore of .7 /
A Cs B Mg C.Ba DK

[3-42. VWhich elements are non metals? ;
ASN&P B As&Sb C.Sb&Bi D. Ba & Bi

N

G-43. Among oxides of nitrogen ali are gases
except
ACN205 B N2O C.NO D N203 %

Q44 All halogens form oxyacide except L/
AJFiouring B. Chlorine  C. Bromine D. lodin

G-45. Compunds HCN and HNC are

A Tautomers B. Metamers
S g, p . L
WCrtunctional isomers D, Conformers

3fFPage
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Screening test for the appointment of
TGT (Contract)

Subject: Chemistry
Note: Choose the correct answer and all
guestions are compulsory.

Q-1. The process of identifying the component
present in a sample is called

gm Quantitative analysis
“B. Qualitative analysis
C. Volumetric analysis
D. Gravimetric analysis

Q-2. Conductometry is based on

’}} Electric current
B. Electrical potential
C. Dielectric constant
D. Electrical conductance

Q-3. Which of the following technigue is based
on the emission of light radiation?

. Flame photometry
{ B Atemic absorption spectrophotometry
"C. Raman speciroscopy
D. Conductometry

-4, \Which of the following method is based on
solubility difference between the analyte and
the unwanted components

A. Distillation

B. Complex formation
A, Electrodepaesition
f\B Precipitation

Q-5. Which of the following technique is based
on the rate of reaction?

A. Isctopic dilution analysis
. Flow injection analysis

WG Mass spectrometry

D. None

Q-6. The t6rm accuracy refers to how near the
d value is to

“Mean value

B. Significant value
@Actual value

D. None

Litah 1<lnay "
LM%IAHQE
Q-7. When HCI is titrated against NaO
at equivatence point will
None \/}e
%\%equal to7 ‘}
less than 7 /

D. greater than 7
Q-8. When CH3COOCH is titrated agamst N H
the pH at the end point is

A. None
B. equaito 7
C. lessthan 7

“Drgreater than 7

Q-9. Which of the following is best indicator for
titration of NH,OH with HCI?

A Methyl red
Methyl crange

C Phenolphthalein
D. None

Q-10. Soap is a salt of compound known as

Q-11. The colour of water in na lake is due to

A Excessive growt sea weeds
;) Algae

C. Grass
D. Other pollution

A. Acetic acid

B. Formic acid
Ty Fatty acid

D. Amino acid

Q-12. Cement s a mixture of

(A) Clay and clinker
B. Clay, limestone and gypsum

C. Limestone and gypsum
D. Limestone and clay

Q-13. The percentage of nitrogen in urea is

7

/

Q-14. The percentage of mtrogen in ammonia is
A 32%
B 42%
C. 72%

D)82%

A 36%
(B)46%
¢ 56%
D. 66%

1|Page
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Q-15. Copper occur in nature as
A. Native
B. Combined
#C) Both
D None

Q-16. The formula of Cryolite is

A NajAlF;
B. NaniF4
C. NazAlF;
4@None

Q-17. Cells with nuciear envelop belongs to

A Prokaryotes .
B Eukaryotes
€)Both

D. Neone _

Q-18. The diameter of a typical plant or animal
cell is

A 1to5um ]
/‘B)Sto?Og,am
C. 101tc 580 um
D 5to 100 pum

Q-19. Acids are substances whose agueous
solutions turned blue litmus red and tasted sour
stated by

ADavy
B. Lisbig
C. Boyte
D. Rouelle

Q-20. Which of the following statement is not
true regarding buffers?

-

A. They are made up of weak’acid and its salts

B. They are made up of wéak base and its salts

C. they tend to resist a’change in pH value

@they are mage Wb of strong acid and weak
ase

Q-21. Relative order of aCIdlty Of HF HCI, HBr
and Hl acids is

A, HCI=HBr>HI>HF

B. HF>HCi>HBrxHI

#C) HI>HBr>HCH>
HF>HI>HCI>HBr

Q-22. The pH of 0.1 M HCI sokdfion is
A.0C01 B.01 C.02 @1

M f-’% [ z

Taln < Inaw
3 /J(L I han

Q-23. Which of the following amlno acid have
two carboxylic groups?

-

‘B Aspartic acid

B. Histidine
C. Gluatmine
D. none

Q-24. How many isomeric aldoses are possible
for the motecular formula CsH1205

A2

B. 4
C.5
D. 16

Q-25. Epimers are compounds that differ in
A. functional group

Oconﬂgurahon at aipha carbon

C. configuration at any carbon
D. none

Q-26. Select (aba}ayﬁ'édd
/\Glycme

. Cystine
C. Alanine
D. Lysine

L~

Q-27. Apoenzyme is

A. Hydrolytic enzyme
B. Oxidative enzyme
C. Coenzyme

"D) Protein part of enzyme after removal of
coenzyme

Q-28. A sugar present in DNA is_—

/

A, D-ribose
B. D-glucose

{C)2-Deoxy-D-Ribose

. None

Q-29. Which v#a;én/is/%eﬁ(ééﬂe for vision?
/A)Retinol

B.vitD
C. Tocopherols e

Q-30. Which of the following is periodic propery?

A. Atcmic volume B Metallic character
C. lonization energy @Ali

2iPage
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Q-31. Which of the folowing has’lar size 7 Q-46. Cetane is 74
A Na’ B.CI CF D) Fe™ A. n-hexane B. n-pentadecane

{ @n octane D. n-hexadecane
Q-32. Which group contains elements that exist
as monoatomic molecules? ' Q-47. Which among the fo%lowzng is not
A B.2 C. 14 %DJS nucteophile ?
CHBNHS \,///TB CH2CH2
Q-33. Which of the following element is more CH3+ D. OH
metallic?
AP B. As f\Q}Sb 7<\ D. Bi Q-48. Which of the following is strong acid? d)<
! ,,m*"ﬁ\ Benzoic acid B. m-nitrobenzoic acid

Q-34. Which of the following factor effect - o-nitrebenzeic acid D, p-nitrobenzoic aci
jonization energy?
A. Atomic radius B. Nuclear charge Q-49. Which of the following orbital does not "
C Shiedding effect  (D)Al make sense? ) e

= - A. 6f B. 4f c7s {D)sg
Q-35. Which of the following elemi}jiLs// -
metalloid? , Q-50. The maxium value of order of reaction

A Pb B. carbon a@ As D . Mg may be? P '
52 Qs pa )k

Q-36. Which of the following compound doe
following octet rule?
A Cs, B PBry C I8r @BrF5

T & e d ek Rk Rk kR R R e R ok e g o o ok e e v sk o e e ok R e ke e e e ok

Q-37. \Which of the following halides have the _—
lowest melting point? M
A. NaCl B. NaF C. NaBr ) Nal

Q-38. Which of the following halides has zero

dipole moment? ‘
A NH; LB’QCI;; C. NF4 D. CHCi;

1-39. The state of hybridization of carbon in

CC2is? ‘
A sp @}bﬁ C.sp3 D dsp2)< oo (S

Q-40. Vhich one of the followi |s'ﬂ.non-polar'? i L

A.cH.C (BycCl,  C_eACL  D.CHC W
e H
S

Q-41. Silvite is an ore of .7 &
(Aca  BMg CBa DK X

-42, Which elements are non metals?
fAN&P B As&Sbh C.Sh&Bi D Ba&Bi
-

Q-43. Among oxides of nitregen all are gases

except . §
A N205 B N20  C NO (D N203 ><

Q-44. All halogens form oxyacide exce
A Flourine B. Chlorine C. Bromme Iodme ><

Q-45. Compunds HCN ang HNC are

A Tautomers B. Metamers
7 Chfunctional isomers D Conformers
S
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Screening test for the appointment of Q:-7When HCl is titrat snst/NaOH the pH \
TGT {Contract) | ilqualence poi ~ ) .
Subject: Chemistry engael o7 . s \ (5 \
Note: Choose the correct answer and alf ' C less than 7 / ?%
guestions are compulsory. D: greater than 7 - C
Q-1. The process of identifying the component Q-8. When CH3COOH is titrated againstLQOH
prese a sample is called the pH at the end point i

. Quantitative analysis A. ﬁe
Qualitative analysis “equalto 7
. Volumetric analysis {q less than 7

« D. Gravimetric analysis D, greater than 7

Q-2. Conductemetry is based on Q-9. Which of the following is best indicator for

, titration of NH,OH with HCI?
. Electric current

B¢ Electrical potential \ A. Methyl red
C. Dielectric constant . Methyl orange
D. Electrical conductance C./Phenolphthaleine
_ ) _ _ D. None
Q-3. Which of the following technique is based
on the emission of fight radiation? Q-10. Soap is a salt of compound known as
A Flame photometry A Acetic acid
é@ Atomic absorption spectrophotometry " Formic acid
. Raman spectroscopy ¢C) Fatty acid
" .« D. Conductometry D. Amino acid
Q-4. Which of the following method is based on Q-11. The colour of water in g lake is due to

the solubitity difference between the analyte and
the wiwanted components

. xcessive growth of sea weeds
Bl Algae

A, Distillation . Grass

B. Complex farmation D. Other pollution

C. Etectrodeposition

D Precipitation Q-12. Ce;ment s a mixture of

Q-5. Which of the following technique is based A €Tay and clinker
fate of reaction? ) Clay, limestone and gypsum

C. Limestone and gypsum

A Isotopic ditution analysis D. Limestone and clay
Flow injection analysis
C. Mass spectrometry Q-13. The percentage of nitrogen in urea is
D None
A. 36%
Q-6. The term accuracy refers to how near the : A46Y%
observed value is to 56%
/Qd L. 66%
“Mean value ;
. Significant vatue ‘ Q-14. The percentage of nitrogen in ammonia is
Actual value A 329
. 32%
D. None . B 42%
‘ CA72%
D. 82%
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Q-15. Copper occur in nature as
A Native
Combined
/ C. Both
D. None

Q-16. The formuia of Cryolite is

A, NasAlF,
. NazAlF,

L CiNasAlFs

D. None

@-17. Cells with nuctear envelop belongs to

@ Prokaryotes
B. Eukaryotes
C. Both
D. None

Q-18. The diameter of a typical plant or animal
cell is..~

tosum
B.5to 10 ym

.10 to 50 um
D: 5 to 100 pm
Q-19. Acids are substances whose aqueous

sofutions turned blue litmus red and tasted sour
stated by

D. Rouelle

Q-20. Which of the following statement is not
true regarding buffers?

A They are made up of weak acid and its salts
They are made up of weak base and its salts
@they tend to resist a change in pH value
. they are made up of strong acid and weak
base

Q-21. Relative crder of acidity of HF, HCI, HBr
and Hi acids is
MCiI=HBr>HI>HF
. HF=HCI=HBr=H]
C. HI>HBr>HCI=HF
D, HF>Hi{=HCl>HBr

Q-22. The pH of 0.1 M HC! sclution is
@50.01 B.0.1 C.02 D.1

%

*"C. 2-Deoxy-D-Ribose
C. None
Q-29. Which vitamin is responsible for visiocn?

Q-23. Which of the fellowing amino acid have
two carboxylic groups?

A. Aspartic acid
\Héstidine
£ C-Gluatmine
D. none

Q-24. How many isomeric aldoses are possible
for the molecular formula CgH1,04

A
4
éﬁe
D. 16

Q-25. Epimers are compounds that differ in

w functional group

B. cenfiguration at alpha carbon
C. configuration at any carbon

D. none
Q-26. Select a basic aminc acid

A Glycine

Cystme
C. Alznine
D. Lysine

Q-27. Apoenzyme is

. Hydrolytic enzyme
Oxidative enzyme
C. Coenzyme
D. Protein part of enzyme after removal of
coenzyme

Q-28. A sugar present in DNA is

. D-ribose
'D-glucose

A. Retinol

. ..Tocopherots
N D_Vit.
J 0. Which of the following is periodic propery?

A. Atomic volume . Metallic character
C. lonization energy DA
Nt

2|Pag&.






e

Q-3 .’Khich of the following has | st size 7
- A-Na’ B.CI C.F il;?iizez*

-46. Catane is

n-hexane B. n-pentadecane
- e ) “C. n-octane D. n-hexadecane
Q-3 hich group contains elements that exist ~
\/%yéggvoatomic molecules? T " Q-47. Which among the following is not
A B2 C 14 + D/18 nucleophile ?
A. CH3NH3 (Bl cHacH2
Q-33-'Which of the following element is more , C. CH3+ D. OH

metallic?
AP B.As CsSb (DB

Q-34. Which of the following factor effect
ioniization energy?

a/A. Atomic radius Nuclear charge /%ag'f/Which of the following orbital does not

(B Benzoic acid B. m-nitrobenzoic acid

Q-48. Which of the following is strong acid?
% C. o-nitrobenzoic acid  D. p-nitrobenzoic acid

- C. Shiedding effect ake sense?

A. 8f B. 4f C.7s f@;g
Q-35. Which of the following element is -

metalioid? Q-50. The maxium value of order of reaction
iPb B.carbon C.As D Mg may be?

7\ 1 B.2 (¢h D4
/ Q-36. Which of the following compound does not -
' following octet rule? /

\/L A. CS, B. PBr, @);Br D. BrFs

~ Q-37. Which of the following halides have the
lowest melting point?

A. NaCl B. NaF @Nasr D. Nat

Bl L L o S

Q-38. Which of the following halides has zero
i dipole m/gme%?\
% A EE/H{; B/Cl, C.NF; D. CHCly

ﬂf39. The state of hybridization of carbon in o C = ]
¢ L02is? O =
Ajsp . B.sp2 C.sp3 D. dsp2

.

A.CH,C! iBJCCl, C.CHCl; D. CHCl;

i Q-41. Silvite is an ore of..? s
7L§. Ca BMg GBa/DK

0. Whicpjne of the feliowing is non-polar?

Q-42. Which elements are non metals?
>L‘®M&P B.As&Sb C.Sb&Bi D.Ba&Bi

Q-43. Among oxides of nitrogen all are gases
except
A.N205 {BJN20  C.NO  D.N203

/ Q-44. All halogens form oxyacide except
7Z\A Fiourine B. Chiorine {C/Bromine D. lodine

Q-45. Compunds HCN and HNC are
A-Jautomers B. Metamers
é’gffunctional isomers D. Conformers

3{?&@;@
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Screening test for the appointment of
TGT (Contract)

Subject: Chemistry

Note: Choose the correct answer and all
guestions are compuisory.

Q-1. The process of identifying the component
present in-g sample is cailed

" Quantitative analysis

Qua itative analysis

. Volumetric analysis
D. Gravimetric analysis

Q-2. Conducgg,metry is based on

Electrical potentiai
> Dielectric constant
Electrical conductance

on the“emission of light radiation?

Flame photometry

. Atomic absorption spectrophotometry
C. Raman spectroscopy

D. Conductometry

Q-4. Which of the following method is based on
the solubility difference between the analyte and
the unwanted compenents

f'//'
A Distitation
B. Gomplex formation

Electrodeposition
. PreC|p|€at|on

Q-5. Which of the following technigue is based
on the raté of reaction?

" lsotopic dilution analysis
Flow injection analysis

. Mass spectrometry
D. None

Q-6. The term accuracy refers to how near the
observedvalue is to

gan value
Significant value
(€} Actual value

D. None

A e
\;@equal to7
C. lessthan 7

D. greater than 7

Q-8. When CH3CQOH is tltratedﬁgamst a0OH
the pH at the end point is

A. None

B. equalto 7
(C)less than 7

D. greater than 7

Q-9. Which-6F the following is best indicator for

B. Methyi crange
C. Phenolphthaleine
D. None

Q-10. Soap-s a salt of compound known as

D. Amine acid
Q-11. The colour of water in a lake is due to

Excessive growth of sea weeds
B. Algae
C. Grass
D. Other pallution.-
/,f“’

Q-12. Cerhent s a mixture of

- Clay and clinker

Céay limestene and gypsum
-C. Limestone and gypsum

D. Limestone and.clay
-

percentage of nitrogen in urea is

TR ST

.‘>

[EY
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Q-15. Copper occur in nature as
A Native

Combined
C. Both
D. None 4

Q-16. The formula of Cryolite is

A NazAlFs

B. NazAIF,

C. NazAlF:
@None /

Q-17. Cells with nuciear envelop belongs to

A. Prokaryotes /
@ Eukaryotes

C. Bath

D. None

Q-18. The diameter of a typical plant or animal
cell is :

'1 to 5 pm
5. 5to 10 pm
C. 10to 50 um
D.5t0 100 um

Q-19. Acids are substances whose aqueocus
solutions turned biue litmus red and tasted sour

stated by

°@Davy
. Liebig
C. Boyle
D. Rouelle
Q-20. Which of the foliowing statement is not
true regarding buffers?

A. They are made up of weak ag%d”'éiﬁd ifs salts

B. They are made up of weaktase and its salts
C. they tend to resist a chafige in pH vaiue
(D) they are made U ofStrong acid and weak

hase

Q-21. Relative order of acidity of HF, HBr
and HIl acids is
A. HCI=HBr>HI>HF
B. HF>HCI>HBr>HI
Hi>HBr>HCI>HF
. HF=HI=HCi{=HBr
Q-22. The pH of 0.1 M HC! solutieqn i

A 001 BO01 C.02 @1

o

Q-23. Which of the following amino acid have
two carboxylic groups? T

Aspartic acid

B. Histidine
C. Gluatmine
D. none

Q-24. How many isomeric aldoses are possible
for the molecular formula CgH1.05
Al2

4 '
C.6
D 16

Q-25. Epimers are compounds that differ in //

"

A functional group
Jconfiguration at alpha carbon
. configuration at any carbon
D.nene

Q-26. Select a basic amino acid

A Glycine
B. Cystine
G, Alanine
D jLysine

Q-27. Apcenzyme is

A. Hydrolytic enzyme
B. Oxidative enzyme
C. Coenzyme

(C)Protein part of enzyme after removal of
coenzyme

Q-28. A sugar present in DNA is

(&) D-ribose
B. D-glucose

+ C. 2-Deoxy-D-Ribose
D. None

Q-29. Which vitamin is responsi

- Retinol
5 Vit D

C. Tocopherols
D Vit K

e for vision?

Q-30. Which of the following-is periodic propery?
A. Atomic volume “B. Metaflic character
C. lonization ener DAl

2| Page



Q-31. Which gf the following has largest size 7 Q-46. Cetane is
A. Na* CI C.F D. Fe® A. n-hexane .n pentadecane
C. n-octane . n-hexadecane .-~
Q-32. Which group contains elements that exist e
as monoatomic molecuies? . / Q-47. Which among the following j
Al B.2 C. 14 @18 L. nuclecphile ? K
A _CH3NH3 “CH2CH2 \
Q-33. Which of the following element is more OCH3+ D. OH '
metallic? /
AP B. As C.sh .Bl Y Q-48. Which of the following is strong acid?
A. Benzoic acid gj;m-n%trobenzoic acid
Q-34. Which of the following factor effect C. o-nitrobenzoic acid  D. p-nitrobenzoic acid [
ionization energy? -
A. Atomic radius B. Nuciear charge Q-49. Which of the following orbital does not
C. Shiedding effect AII / make sense?

A. 6f B. 4f c7s  (Dg L/
Q-35. Which of the following element is
metalioid? : \// Q-50. The maxium value of order of reaction
A Pb B. carbon {C/As D. Mg may be? .
A1 B.2 (cj3 .4
Q-36. Which of the following compound does not
following octet rule? /
A.CS, B.PBr; C.i8r (D)Brfs

ke ok e e e ok ok oK Y .gyun ek dek ARk kdededik dkddRkdkkikhikdk

Q-37. Which of the following halides have the
lowest meiting point? P / ;
ANaCl  B.NaF C.NaBr (D)Nal

Q-38. Which of the following halides has zero

dipoie moment? .
A. NH, B. Cl, @NF3 D. CHCl X

Q-39. The state of hybridization of carbon in
CO2is?

A sp @spiz C. sp3 D. dsp2 \%

Q-440. Which oae of the following is non-polar? :
A. CH,CI @CCL; C. CHCI; D. CHCl;
Q-41. Silvite is an ore of .7 c

ACa  BMg C.Ba (D) y

Q-42. Which elements are non metals? ;
N&P B.As&Sb C.Sb&Bi D.Ba&Bi >é

Q-43. Among oxides of nitrogen all are gases

except

A N205 (BJN20 C.NO D.N203 '§<
(-44. All halogens form oxyacide except

A Flourine B. Chiorine C. Brominelodine
Q-45. Compunds HCN and HNC are

A Tautomers B. Metamers &
@functiona! isomers . Conformers

3lPage
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Screening test for the appointment of
TGT {Contract)

Subject: Chemistry

Note: Choose the correct answer and all
guestions are compulsory.

Q-1. The process of identifying the component
present ira sample is catled

~Quantitative analysis
B Quaiitative analysis
C. Volumetric analysis
D. Gravimetfric analysis

Q-2. Conductometry is based on

" Electrical potential
C. Dielectric constant
(> Electrical conductance

6f the following technique is based

Flame photometry

B. Atomic absorption spectrophotometry
C. Raman spectroscopy

©. Conductometry

Q-4. Which of the following method is based on
the solubility difference between the analyte and
the unwanted. eomponents

omplex formation
. Electrodeposition
{D} Precipitation

Q-5. Which of the following technique is based
fate of reaction?

A. isotopic dilution analysis
{B./Flow injection analysis
C. Mass spectrometry

D. None

Q-6. The term accuracy refers to how near the
chservegvalue is to

ean value
. Significant value
i@? Actual value

L. None
A%
o, N Ay ey o 5 8 [ 43
NI
.m}ﬁ - \“ N ‘%
e i i "*:% o
e fﬁu&\z\\ ?i\f: . - -
A0

C lessthan?
D. greater than 7

“less than 7
(D} greater than 7

Q-9. Which of the following is best indicator for
titration of NH,OH with HCI?

A. Methyl red

B. Methyl orange
Phenolphthaleine

D. None

is"a salt of compound known as

. Formic acid
@ Fatty acid
D. Amino acid

Q-11. The colour of water in a lake is due to

iﬁ Excessive growth of sea weeds
B. Algae
C. Grass
D. Other pollution

{ s a mixture of

Q-12. Ce

Llay and clinker

8/ Clay, limestone and gypsum
C. Limestone and gypsum

D. Limestone and clay

age of nitrogen in urea is

Q-13. The percer

D. 66%

Q-14. The percentdge of nitrogen in ammonia is

i]?age



Q-15. Copper ceeur in nature as
A, Native

&3 Combined
C. Both
D. None

Q-16. The formuia of Cryolite is
A. NaAlF, N/

B NasAIF,

C. Na:.AlFs

D. Nene ‘

Q-17. Celis with nuclear envelop belerigs to

A. Prokaryotes
(B) Eukaryotes
C. Both
D. None

{1-18. The diameter of a typical plant or animal
cell is

A 1t05pm ]
B.5to 10 pm ’
€10 to 50 pm

D. 510 160 um

Q-19, Acids are substances whose agueous
solutions turned blue litmus red and tasted sour
stated by

A Davy
{B. Liebig
C. Boyle
D. Rouelle

Q-20. Which of the following staternent is not
true regarding buffers?

A.They are made up of weak acitf and its salts
B. They are made up of we
C. they tend to resist a chahge in pH value

strong acid and weak

Q-21. Relative order of acidity of HF,
and Hi acids is

A HCI=HBr>MI>HF
B. HF=HCI>HBr=HI
{CyHI>HBr>HCI>HF
D. HF=HI>HCI>HBr

HBr

Q-22. The pH of 0.1 M HCI Soiutl/

A.001 B.01  C.02 (DM

{Q;conféguration ata

ase and its salts

Q-23. Which of the following amino acid have
two carboxylic groups?

A. Aspartic acid
B Histidine
C “Gluatmine
D. none

Q-24. How many isomeric aldoses are possible
for the molecular formula CgH4,04
A2

B. 4 j
&6 7L
D. 18

Q-25. Epimers are compounds

A. functional group

C. configuration
D none

any carbon

Q-26. Select a basic amino acid

A. Glycine
B. Cystine
C Alanine
D ' Lysine

Q-27. Aposnzyme is

A. Hydrolytic enzyme
B. Oxidative enzyme
Coenzyme
D. Protein part of enzyme after removal of
coenzyme

Q-28. A sugar present in DNA is

A. D-ribose
- D-giucose

i@,«; 2-Deoxy-D-Ribose

D). None

Q-29. Which VWE for vision?
{K)Retinol

B.vitD
C. Tocopherols
D. vit. K

Q-30. Which of the following is periodié propery’?
A. Atomic volume B. Metllic character
C. lonization energy 42

2|Fage



Q-31. Which of the following has Eagesi size ? Q-46. Cetane is /
D

A Na* B.CI CF D 3Fe”* A n-hexane B. n-pentadecane
C. n-octane (D, 'n-hexadecane

Q-32. Which group contains elements that exist

as monoatomic mclecules? . Q-47. Which among the following is not

A1 B.2 C. 14 (D18

nucleophile 7 /
A CH3NH3 B. CH2CH2

Q-33. Which of the following element is more {%‘;},CH% D.OH

metallic? N / o

AP B. As C.Sb (DiBi Q-48. Which of the following is strong acid?

A Benzoic acid B. m-nitrobenzoic gei
Q-34. Which of the following facter effect . O-hitrobenzoic acid iﬁ@—nitrobenz ic"acid

ionization energy?
A Atomic radius B. Nuclear char Q-49. Which of the following orbital does not

C. Shiedding effect ;@“‘AII ' make sense? /
‘ A 6f B. 4f c.7s  (Disg

Q-35. Which of the following element is ‘
metalloid? - Q-50. The maxium value of order of reaction
A Pb B. carbon {C;As D. Mg may be?

A B. 2 ¢i3 D4
Q-36. Which of the following compound does not ”“
following octet rule? .
A CS,; B.PBr; C.IBr {D;BrFs
Q-37. Which of the following halides have the
lowest melting point? e
A'NaCl  B.NaF C.NaBr {D Nl

Q-38. Which of the following halides has zero 6
dipcle momegl? .
A NH; {BiCl,  C.NF, B. CHCI;

Q-39. The state of hybridization of carbon %n/ . e b e d
CO2is? e e .5
[Aisp B.sp2  C.sp3  D.dsp2 W g e
- s Ny w v
(-40. Which gne of the foilowing is non-polar? \/
A.CH,CI {BJCCL C.CHCL  D.CHC .‘ e
Q-41. Silvite js an ore of .7 \/
A Ca B/Mg C.Ba DK
Q-42. Which elements are non metals?
(AAN&P B.As&Sb C.Sb&Bi D BaaBi

Q-43. Among oxides of nifrogen all are gases
except

FAN205 B.N20 C.NO D.N203 >< e B A

ifp
~
-
-

Q-44. Ali halogens form oxyacide except oo &N '
A. Fiourine B. Chlorine { C} Bromine D, lodine ><
Q-45. Compunds HCN and HNC are
WA Tautomers B. Metamers - —
C. functionat isomers D Conformers . oo 13
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Screening test for the appointment of
TGT (Contract)

Subject: Chemistry

Note: Choose the correct answer and all
guestions are compulsory.

Q-1. The process of identifying the component
present in a sample is called

LA}’Quants‘tative analysis
B. Qualitative analysis
C. Volumetric analysis
D. Gravimetric analysis

Q-2. Conductometry is based on

A. Electric current
B. Electrical potential

. Dielectric constant
D/ Electrical conductance
Q-3. Which of the following technigue is based
on the emission of light radiation?

A. Flame photometry
B.:Atomic absorption spectfophotometry
C. Raman spectroscopy
D. Conductometry

Q-4. Which of the following method is based on
the solubility difference between the analyte and
the unwanted components

A. Distillation

B. Complex formaticn
¢, Electrodepositiog
@;Precipftation

Q-5. Which of the foliowing technique is based
on the rate of reaction?

A Isotepic dilution analysis
B. Flow injection analysis
C. Mass spectrdmelry

@ None

Q-6. The term aoéuracy refers to how near the
observed value is to

A Mean value
@ Significant value
C. Actual value
D. None

Qm-f! N
GIAC o -

IEF\Q.. AL~

Q-7. When HCl is titrate
at equivalence point wi
A. None

B. equalto 7

lessthan 7
D, greater than 7

the pH at the end point is

A. None
equalto 7

éjiess than 7
greater than 7

Q-9. Which of the following is best indicator for
titration of NH,OH with HCI?

A. Methyl red i
@}Methyl orange

C. Phenolphthaleine

D. None

Q-10. Soap is a salt of compound known as

A. Acetic acid
. Formic acid

C, Fatty acid

D. Amino acid

Q-11. The colour of water in a lake is due to

(A)Excessive growth of sea weeds

\Bi Algae
C. Grass
D. Other poflut
Q-12. Cements a mixtV
A, Clay and clinker '

@_,;Ctay limestone and gypsum

C. Limestone and gypsum
D. Limestone and clay

Q-13. The percentage of nitrogen in urea is

/A\ 36%

B146%
. 56%
D. 66%

Q-14. The percentage of nitrogerin armmonia is
A 32%
B. 42%

72%

(J 82%

1'|§'>age



Q-15. Copper occur in nature as
A. Native
3, Combined
@;Both
. None

Q-186. The formula of Cryolite is

A, NaAlF,
B Na,AlF,
C. NasAlF:
B. None

Nty AL

Q-17. Cells with nuclear envelop belongs to

Aﬁ\Prokaryotes
@_I JEukaryotes

C. Both
D. None

Q-18. The diameter cf a typical plant or animat
cell is

A tTtobum

B. 5010 um
Q 10 to 50 um
@5%0100pm

Q-19. Acids are substances whose aqueous
solutions turned blue litmus red and tasted sour
stated by

ng Cavy

. Liebig
C. Boyle
D. Rouelle

Q-20. Which of the following statement is not
true regarding buffers?

A.They are made up of weak acigd'and its salts
B. They are made up of weakdase and its salts
C. they tend to resist g charfge in pH value
@,:they are made up of'strong acid and weak
base

Q-21. Relative order of acidity of HF, HCI, HBr
and Hi acids is
A HCI=HBr>HI>HF
. HF>HCI>HBr>H]I
(%} Hi=HBr>HCi=HF
D. HF>Hi=HCI>HBr

Q-22. The pH of 0.1 M HCI sglution is
A.001 B.01  C.02 (D1

Q-23. Which of the following amino acid have
two carboxylic groups?

(A Aspartic acid

B. Histidine
C. Gluatmine
D. none

Q-24. How many isomeric aldoses are possible
for the molecular formuta CeHy204
(A2 o

e

B.4 L
C.8

G186

Q-25. Epimers are compounds that differ in

A. functional group

B. configuration at alp rbon
(€ configuration at an{ carbon
D. none

Q-26. Select a basic aming asid

A. Glycine
B. Cystine

Atanine
(Q_\”Lysme

Q-27. Apoenzyme is

A. Hydrolytic enzyme
B. Oxidative enzyme

Coenzyme
D Protein part of €nzyme after removal of
coenzyme

Q-28. A sugar present in DNA is

A. D-ribose

B D-glucese

(\12 Deoxy-D-Ribose
b. None

Q-29. Which vitamin is responsible for vision?

Retinol
B.VitD
C. Tocopherols
D.vit. K

Q-30. Which of the following is periodic propery?
A. Atomic volume B. Metaflic character
C. lonization energy D,

2| Page



Q:31. Which of the following has largest size ? Q-46. Cetane is

(A_Na' BCI CF D Fe™ - (A n-hexane B. n-pentadecane ><
C. n-octane D. n-hexadecane

Q-32. Which group contains elements that exist

as monoatomic moiecu[gs\? Q-47. Which among the following is not
LG4 D. 18

A B 2 L . nucleophile ? /
A CH3NH3 B. CH2CH2

Q-33. Which of the following element is morci//,@.CH3+ D. OH

metallic?

AP B. As C.Sb @Ba Q-48. Which of the following is strong acid?

A, Benzoic acid B. m-nitrobenzoic aci |

Q-34. Which of the following factor effect . 0-nitrobenzoic acid  D. p-nitrobenzoic aci
ionization energy? '
A. Atomic radius (B\.Nuclear chaV Q-49. Which of the following orbital does not

C. Shiedding effect DAl . make sense? .

- AGf B4 CT7s  (D'sg L

Q-35. Which of the following element is )
netailoid? >< Q-50. The maxium value of order of reaction

AlPDb B.carbon C.As D Mg may be? ,

~ A1 B.2 (€3 D4 /><
Q-3€. Which of the following compound does not

flowing octet rule?

@jcsg B.PBr, C.IBr D. Brfs ><

Q-37. Which of the foliowing halides have the

fowest melting point? -

ANaCl B NaF C.NaBr @‘) el
Q-38. Which of the following halides has zero

dipole moment? ‘
A.NH; BCl, C.NF; D.CHCl )Q

Q-39. The state of hybridization of carbon in
CCz is7? ‘
A sp B sp2 @ sp3 D. dsp2

Q-40. Which one of the following is non-polar?
A.CH,Cl (BICCl, C.CHCl,  D.CHCly

Q-41. Silvite ig an ore of..? /
A Ca B.Mg C.Ba DK

Q-42. Which elements are non metals?
(AIN&P B As&Sb C Sb&Bj D Ba&Bi

Q-43. Among oxides of nitrogen all are gases '
except /
A N2O5 B.N20O C./:NO D. N203
Q-44. All halogens form oxyacide except /
& Flourine B. Chicrine C. Bromine D. lodine

Q-45. Compunds HCN and HNC are

. 1automers 8. Metamers
C sfunctional isomers D. Conformers
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Subject: Chemistry

Note: Choose the correct answer and all
guestions are compulsory.

Q-1. The process of identifying the component
present in a sampie is called

@ Quantitative analysis
B. Qualitative analysis
C. Volumetric analysis
D. Gravimetric analysis

Q-2. Conductometry is based on

A Electric current
. Electrical potential
Dielectric constant
/ D. Electrical conductance

Q-3. Which of the following technigue is based
on the emission of light radiation?

A. Flame photometry

B, Atomic absorption spectrophotometry
{C/Raman spectroscopy

D. Cenductometry

Q-4. Which of the following method is based on
the solubility difference between the analyte and
the unwanted components

A. Distillation

B. Compiex formation
Electrodeposition

D. Precipitation

Q-5. Which of the following technigue is based
on the rate of reaction?

A. Isolopic dilution analysis
B. Flow injection analysis
C.Mass spectrometry

D. None

Q-6. The term accuracy refers to how near the
observed value is to

“Mean value
B. Significant value
(C>Actual value

D. None

/"”M'w
.";/ ,,"-4.‘
o T

“When HCI is titrated against NaOR the-pH
at equivalence point will be - \
A None Sy !
@equal to7 yd } Z
C. lessthan7 i !
D. greater than 7 ‘ 'S C //

Q-8. When'CH3C

yaé the end poi
~"A. None

B. equaito 7
C.lessthan?
(D) greater than 7

Q-9. Which of the following is best indicator for
titration of NH,OH with HCI?

| A Methyl red
@Methyi orange
C. Phenoiphthaleine
D. None

Q-10. Soap is a salt of compound known as
-~

A. tic acid
“Formic acid
©

i Fatty acid
D. Amino acid

Q-11. The colour of water in a lake is due to

(A Excessive growth of sea weeds
B. Algae

C. Grass

D. Other pollution

Q-12. C/gment s a mixture of
A€lay and clinker

' Clay, limestone and gypsum
C. Limestone and gypsum
D. Limestone and clay

Q-13. The percentage of nitrogen in urea is

A 36%
B. 46%

56%
D. 656%

e percentage of nitrogen in ammonia is

IIP.ége



Q-15. Copper occur in nature as
A, Native
Combined

C. Both
C. Nong~

6. The formula of Cryolite is

(A NaAlF,
B. Na,AlF,
C. Na;AlIF;
D. Nong—~

-
VQ&’“T?. Cells with nuclear envelop belongs to
A Prokaryotes
(B} Eukaryotes
C. Both
D None

Q-18. The diameter of a typical plant or animal
cell is

A 1o 5um
5t 10 um
C. 100 50 um
/ D. 510100 um

Q-19. Acids are substances whose aqueous
solutions turned blue litmus red and tasted sour
stated by

@ Davy
B. Liebig
C. Boyle
D. Rouelle

Q-20. Which of the following statement is not
tfrue regarding buffers?

A. They are made up of weak acid and its salts
@?They are made up of weak base and its salts
- they tend to resist a change in pH value
7 D.they are made up of strong acid and weak
base

Q-21. Relative order of acidity of HF, HCI, HBr
and Hi acids is

N/ @ HCI=HBrHI=HF

B, HF>HC=HBr=>HI

C. HI>HBS>HCEHF

H>HCI=HBr

-22. The pH of 0.1 M HCI sglution is
A 001 B O0O1 €02 (DM

Q-23. Which of the following amino acid have
two carboxylic groups?

A. Aspartic acid
B. Histidine
C.\Gluatmine

. hone

for the molecular formula CgH,,05
)2

B. 4

C 6

.16

7{\ Q-24. How many isomeric aldoses are possible

Q-igwE”ﬁ?mers are compounds that differ in

‘ //(functional group

7 (B} configuration at alpha carbon
C. configuration at any carbon
D none

Q-26. Select a basic amino acid

A. Glycine

B. Cystine

C. Alanine
@ Lysine

Q-27. Apbenzyme is

\/A./Hydrolytéc enzyme
B. Oxidative enzyme

C. Coenzyme
Protein part of enzyme after removal of
coenzyme

Q-28. A sugar present in DNA is

A BD-ribose

L/B/./D-glucose
@Z—Deoxy-D-Ribose
D. None

Q-29. Which vitamin is responsibie for vision?

A. Retinol
B.VitD

C. Tocopherols
Ohvit. K

Q-30. Which of the following is periodic propery?

A. Atomic volume B. Metallic character
(Cilonization energy D All
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Q-31. Which of the foiiowmg has larggst sze ?
A Na’ B CJ CF Fe"

Q-32. Mgroup contains eiements that exist
as monoatomic molecules? .
CL

A1l B 2 C.14
Q-33W<§f the following element is more
meia .,

AP B As Csb @j Bi
7

Q:34WWhich of the foilowing facter effect

ionization energy?

A Atomic radius

C. Shiedding effect

B. Nuclear charge
(D) At

Q-35. Which of the foliowing element is
metalloid?

A Pb B carbon C As (D)Mg

Q-36. Which of the following compound does not

following octet rule?

@CS/ “B. PBr,

. Which of the fellowing halides have the
owest melting point? \
ANaCl . B.NaF C.NaBr (DiNal

-

el

8. Which of the following halides has zero
dipole moment?
A. NH; B.C, C.NF; (D)CHCh

C.1Br D. BrFg

Q-39. The state of hybridization of carben in
COz is?
A sp

=

@ sp2 C. sp3 D. dsp2

-40. Which pne of the following is non-polar?

A CHCl (B/CCl. C.CHCI;  D.CHCI;
o
-41. Silvite (g an ore of .?

A Ca BMg C.Ba D.K

42, Which elements are non metals?
N&E“—’ B As&Sb C.Sh&Bi D Bag&Bi

Q-43. Among oxides of mtrogen all are gases
except
A.N205 B N20 C.NO L}N203

Q-44. Al halogens form oxyacide exc
A. Flourine B. Chlorine C. Brominel( D}lodine

A. Tautomers B. Mstamers
C. functional isomers OConformers

;Q -45. Compunds HCN and HNC are

e

-46. Cetane is
A. n-hexane B. n-pentadecane
C. n-octane D’ n-hexadecane

Mhich among the following is not
L~"nucleophile ?

A_CH3NH3 B. CH2CH2
(CoCH3+ D. OH

' Q-48. Which of the follow
A. Benzoic acid
C. o- mtrobenzo;c acid

ing is strong acid?
, M-nitrobenzoic acid
D. p-nitrobenzoic acid

V,@ﬁ;e Which of the following orbital does not
make sense?

A. 6f B. 4f c7s  (Dlsg
Q-50. The maxium value of order of reaction
may be?

A 1 B.2 @ 3 Da

******'Is‘*iri!******************************i******i**
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Subject: Chemistry
Note: Chocse the correct answer and all
gquestions are compulsory.

Q-1. The process of identifying the companent
present in a sample is called

@Quantitat%ve analysis
B. Qualitative analysis

C. Volumetric analysis
D. Gravimetric analysis

Q-2. Conductometry is based on

i A Electric current

B. EBiectrical potential
Diglectric constant
. Electrical conductance

Q-3. Which of the following technigue is based
on the emission of light radiation?

A. Flame photometry
tomsc absorption spectrophotometry
aman spectroscopy
Conductometry

Q-4. Which of the following method is based on
the solubility difference between the analyte and
the unwanted components

" A Distiliation

B. Complex fermation
@Electrodepos tion
D. Precipitation

Q-5. Which of the following technigue is based
on the rate of reaction?

A. Isotopic dilution analysis

. Flow injection analysis
ass spectrometry
“None

“/L&s—u
curacy refers to how near the
alue is to
WH,
26¥3 B. Significant value
{v 3 Actual value
2R D. None
3y
2 &
R if + I+
¢
Wiy e
__.]f_i, 2z 51
1z 2 %

gd o

qualto 7
.lessthan 7
D. greater than 7

Q-8. When CH3COOH is titrated against NaOH
the pH at the end point is

H

Q-9. Which of the following is best indicator for
titration of NH,OH with HCI?

A Methyl red
@ ethyl orange
- Phenolphthaleine

D. None

A. Ncnhe

B. equaito 7
C.lessthan7
@ greater than 7,

Q-10. Soap is a salt of compound known as

/

Q-11. The colour of water in a lake is due to

A. Acetic acid

B. Formic acid
Fatty acid

D. Amino acid

@ Excessive growth of sea weeds

. Algae
C. Grass %
@-12. Cement s a mixture of :
A, Clay and clinker /

D. Other poliution

Ciay, limestone and gypsum
C. Limestone and gypsum
D. Limestone and clay

Q-13. The percentage of nitrogen in urea is

A 36%
B. 46%

@6% %
“66% ;

Q-14. The percentage of mtrogen in ammonia is
A.32%
B 42%

 72%
82%

1| Page
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Q-15. Copper occur in nature as

A Native %

Combined
. Both

B. None

Q-16. The formuta of Cryolite.is™

/

®N33A|F3 \

B. NaAlF, \,/

C. N83A|F5

D. None

Q-17. Cells with nuclear envelop belongs to

A Prokaryotes
. Eukaryotes

C. Beth

D. None

Q-18. The diameter of a typical plant or animal
cell is

A 1to5pum
510 10 um
.10 to 50 pm

D. 510 100 um

Q-19. Acids are substances whose agueous
sclutions turned blue litmus red and tasted sour
stated by

@ Davy

. Liebig
C. Boyle
D. Rouelle

Q-20. Which of the following statement is not
true regarding buffers?

They are made up of weak/base and its salts

%. They are made up of weak{cid and its salts

2. they tend to resist a change in pH value
. they are made up of strohg acid and weak
base

Q-21. Relative order of acidity of HF, HCI, HBr
and HI acids is

HCI>HBr>HI>HF
B. HF>HCI>HBr=HI
C. HI»>HBr=HCI>HF

D. HF=HI>HCI|>HBr y/
Q-22. The pH of 0.1 M HC! solutidn is

A 001 B 01 c.o.z

Q-23. Which of the following amino acid have
two carboxylic groups”?

A, Aspartic acid
B. Histidine
uatmine
none

Q-24. How many isomeric aldoses are possible

for the molecular formula CgM,,04
})

B 4 j
C.B

D. 18

Q-

25. Epimers are compounds that differ in

nctional group
B configuration at alphg carbon
C. configuration at any carbon

D. none

Q-26. Select a basic amine acid

Q-27. Apoenzyme is
B. Oxidative enzyme /
. Coenzyme

Protein part of enzyme after rermoval of
coenzyme

A. Glycine
ystine

. Alanine
D. Lysine

A, Hydrolytic enzyme

Q-28. A sugar present in DNA is ﬂ,ﬂ”ﬂ

-

Q-29. Which vitamin is responsible for vision?

A. D-ribose

B. D-glucose
2-Deoxy-D-Ribose

D. None

A. Retingl
B.VitD

. Tocopherols
(Dvit. K

Q-30. Which of the following is periodic propery?
_Atomic volume B. Metallic character
onization energy D.All

2|fage
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Q-31. Which of the followmg has lapgs tS|ze ?
A Na" B Cr ‘

Q-32. Which group contains elements that exist

as monaoatomic molecules? .1
@ 8

A B2 C 14
Q-33. Which of the following element is more

metallic?

AP

Q-34. Which of the following factor effect
ionization energy?

A. Atomic radius

! us B Nuclear charge
C. Shiedding effect |s

Q-35. Which of the following element is

metalioid? /
arbon C.As D Mg

A Pb

Q-36. Which of the following compound does not
following octet rule?
A CS; B. PBr;

B. As C.Sb

Q-37. Which of the following halides have the

lowest melting point?

A.NaCl B NaF C.NaBr aI
Q-38. Which of the following halides has zero
dipole moment?

A. NH; @ l, C.NF; D.CHCl

Q-39. The state of hybridization of carbon in

COzis?
B, sp2 @93 D. dsp2

A sp

Q-41. Silvite is an ore of .7
A Ca IV?g C.Ba DK
-42. Which elements are non metais?
N&P B As&Sh C.Sb&Bj D Ba&Bi

Q-43. Among oxides of nitrogen all are gases
except

A N205 B.N20 C. NO (D_N203

va

Q-44. All halogens form oxyacide excep
A. Flourine B Chlorine C. Bromineodine

Q-45. Compunds HCN and HNC are X

A Tautomers B. Metamers
C. functional isomers @Zonformers

C.1Br Bri—'s L/

Q-40. Which.one of the following is non-polar?
A.CH,CI (BJCCl,  C.CHCl;  D. CHCl ‘  _

Q-46. Cetane is
A. n-hexane
C. n-octane

B! n-pentadecane
-heéxadecane

v

Q-47. Which among the following is not

nucleophile ?
CH3NH3 B. CH2CH2 L
H3+ D. OH

Q-48. Which of the follow
A. Benzoic acid
C. o-nitrobenzoic acid

ing is strong acid?
‘m-nitrobenzoic acid
D. p-nitrobenzoic acid

Q-49. Which of the following orbital does not

make sense? -

A 6f B. 4f
Q-50. The maxium vaiue of order of reaction

may be?
@

A
nnnnnnnnnnnn ek kikk

B.2 D.4

Fhk Kk
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Screening test for the appointment of
TGT (Contract)

Subject: Chemistry

Note: Cheoose the correct answer and ail
questions are compulsory,

Q-1. The process of identifying the component
presentin a sample is cailled

" Quantitative analysis
@ Qualitative analysis
C. Volumetric analysis
D. Gravimetric analysis

Q-2. Conductometry is based on

1 Electrical conductance

‘the following technique is based
ission of light radiation?

Ftame photometry

B. Atomic absorption spectrophotometry
C. Raman spectroscopy

D. Conductometry

Q-4. Which of the following method is based on
the solubility difference between the analyte and
the unwanted components

(A" Distillation
. Complex formation
C. Electrodeposition
I D. Precipitation

Q-5. Which of the following technigue is based
on the rate of reaction?

A. Isotopic dilution analysis
B. Flow injection analysis
C. Mass spectrometry

D. None -

Q-6. The'term accuracy refers to how near the
obserred value is to

" Mean value

B. Significant value
@ Actual value

D. None

ﬁ_g}u WIE et /(je Luneeie
ey Rehmeoen

Q-7. When HCl is titrated
at equivalence point will
A. None
B equalto 7
C.lessthan ¥

@ greater than 7

the pH at the end point is

%}None ‘
.equalto 7

C.lessthan 7
C. greater than 7

Q-9. Which of the following is best indicator for
titration of NH,OH with HCI?

A. Methyi red
(B Methyl orange

C. Phenciphthaigine
D. None

Q-10. Soap is a salt of compound known as

@Aoetic acid N/

. Formic acid K
C. Fatty acid

D. Amino acid

Q-11. The colour of water in a lake is due to

A. Excessive growth of sea weeds
B. Algae

. Grass ‘
D Other pollution
Q-12. Cement s a mixture of

(A)Clay and clinker

B. Clay, limestone and gypsu
C. Limestone and gypsum

0. Limestone and clay

Q-13. The percentage of nitrogen_i

A. 36%
(E; 46%
C.56%
D. 66%

Q-14. The percentage of nitrogen in ammonia is
(A232%
B. 42%
C.72%
D 82%
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Q-15. Copper occur in nature as
A. Native
\/B. Combined )<
C. Both
D. None :

Q-16. The formula of Cryolite is

. NazAlF; '
! NazAlF,
C. NazAlF;

D. Nene
Q-17. Celis with nuclear enveio b’é@éngs to

A. Prokaryotes
Eukaryotes

C. Both

D> None

Q-18. The diameter of a typical plant or animal
cell is

A 1to5pum
@Stom pm
C. 1010 50 um
D. 5to 100 um

Q-19. Acids are substances whose aqueous
solutions turned biue litmus red and tasted sour
stated by

A Davy
é\ Liebig
C. Boyle
D. Rouelle

Q-20. Which of the following statement is not
frue regarding buffers?

A. They are made up of weak acidand its salts
B. They are made up of weak bagé\and its saits
Cothey tend to resist a change i pH\alue

D. they are made up of strong ‘acid and-weak
base

Q-21. Relative order of acidity of HF, HCI, HBr
and Hi acids is ;7
A HCI>HBr>HI>HF
(?HF>H0|>HBr>H|
. HI>HBr>HCI>HF
D. HF>Hl=HC>HBr

-22. The pH of 0.1 M HCI solution is
A DO B 01 C02 Dé 1

N

L&L,U’?'&f T

/@“fw&f’{c ¢

Q-23. Which of the following amino acid have
two carboxylic groups?

A. Aspartic acid
B. Mistidine
Gluatmine
D.'none /
Q-24. How many isomeric aldoses are possible
for the molecular formuia Cqu}Oﬁ
A2 7

o~

B. 4 -
C6 \//
©11e

Q-25. Epimers are compounds that differ in

@uﬂctional group

B. configuration at alpha cafh
C. configuration at any cdrbon
D. none

Q-286. Select a basic amine acid

A. Giycine
B. Cystine
C. Alanine
D> 'Lysine

Q-27. Apoenzyme is

@\)Hydroiytic enzyme

. Oxidative enzyme

C. Coenzyme

D. Protein part of enzyme after removal of
coenzyme

Q-28. A sugar present in DNA is

A. D-ribose

(B D-glucose

C. 2-Deoxy-D-Ribose
D. None

Q-29. Which vitamin is responsitsié for vision?

@;?Retinol
B vitD
C. Tocopherols
D. Vit K

Q-30. Which of the following is periodic propery?

@Atomic volume B. Metallic character
. fonization energy D. All

2| Fage



o & . e 9,
/’\J'(_"Li?’?;’;k... L’SLC?J“ZQ DTN f;’f,ﬂ [W{,u-( <
.J'J/
Q-31. Which of the following has largest size ? " Q-46. Cetane is
A Na’ B CrI C.F éFe f\_/ A. n-hexane B. n-pentadecans
C. n-octane O n-hexadecane ‘\-«/

Q-32. Which group contains elements that exist
as moneatemic molecules?
Gi1s -~

A B.2 C. 14
Q-33. Which of the following element is more
metallic?

Cll:]

AP

Q-34. Which of the following factor effect
ichization energy?
\. Atomic radius

C.Shiedding effect

B. As C.Sb

B. Nuclear charge
D. All

Q-35. Which of the following element is

metailoid?
@’Carbon C As D Mg

A Ph
Q-36. Which of the following compound does not
following octet rule?

C.IBr D BrFs )<

(A>cs; B. PBr,
Q-37. Which of the following halides have the

lowest melting point? x
A. NaCi &éo NaF C. NaBr D.Nal

Q-38. Which of the foilowing halides has zero
dipcle moment? :
(AyNH; B.Cl, C.NF; D.CHCl
Q-39. The state of hybridization of carbon in
Co2 is?
@asp B. sp2 C.sp3 D. dsp2
Q-40. Which gne of the foilowing is non-polar?

A. CH,CI @cc C.CHCl;  D.CHCl

A Ca BIMg C.Ba D.K

Q-41, Silvit%_;g an ore of..?
Q-42. Which elements are non metals?
(A'N&P B.As&Sb C.Sb&Bi D.Ba&Bi

@-43. Among oxides of nitrogen all are gases
except .
(A'W205 B.N20 C.NO D.N203 X
Q-44. All halogens form oxyacide except

@Flourme B. Chlorine C. Bromine D. lodine

Q\-45. Coempunds HCN and HNC are
@_._"Tautomers B. Metamers
C. functional isomers  D. Conformers

Q-47. Which among the following is not
nucleophile ?
A CH3NH3
C, CH3+

/.-’"
e

Q-48. Which of the following is strong acid?
A, Benzoic acid B. m-nitrobenzoic acicﬂ/
@ b-nitrobenzoic acid @ p-nitrobenzoic acid

Q-49. Which of the following orbital does not
make sense?
@sg

A 6f B. 4f
Q-50. The maxium value of order of reaction

may be?
B.2 ©3 D4 X

**************************************************

B. CH2CH2
D.OH

C.7s

X
/
/

X

\/ /
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